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Review law of sin/cos, ambig case and vectors -

1)

Jack 1s planting a wiangular rose zarden. The lengrhs of tvo sides of the plot are 8 feetand 12 feet. and
the angle between theny is 877, Which expression could be used 10 find the ares of this garden”
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In AdBC a =10 ¢ =10, and mZA =111, Which statement can be used ro find the value of < C 7
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How many distinet wiangles can be formed if w24 =30, side h= 12, and snde ¢ = 87
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Sam 1 designmg a miangular plece for a metal sculpture. He tells Martha thar e of the siles of the

preee are 40 inckes and 15 mches, and the angle opvosite the dl-neh side measures 1207 Marths
decides to sketeh the przee that Sam deseribed. How many different triansles can she skerel that marcl

Sam's deserprion?
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5)

Two sides of a wiangular-shaped pool measure 16 feet and 21 feer. and the meluded angls mezasures 587
What 1< the area. to the nearest renihh of a square foor. of a nylon cover that would exacrly cover the
surface of the pool?
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Two sranght roads, Eln Street and Pine Streen intersect creaung a 407 angle, a5 showi i the
accompanying diagram. John's house 17115 onn Elm Swreet and 15 3.2 nules frony the point of wmtersecnon
1

6.)

Mary's house (315 on Pme Steet and 19 5.6 mules front the wtersection. Find, to the woaress renils of 4

mife. the direct distance berween the two Liouses.
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A farmer has a miangular freld with sides of 240 feet. 300 feet. and 360 feer. He wants o apply farnlizer
to the field. If one 40-pound bag of tertilizer covers 6.000 square feet. how nuany bags must hie bhuy 1@
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7.)

T A
A sk It begins at ground level 9,75 mile from the base of a (ountam whaose face lins 2 807 angle of
elevanon. as shown m the accompanving diagram. The skt lift ascends ma stratght line atan angle of
27 Find the length of the ki It from the beginning of the ski hift to the rop of the mountan 1o the

: ; A RSN
HSOVEST nrnarednn of e

[ nnt v

sin %p s\n 120 -3t
. ’.}.6 ' R ) ”500 rh

B ginnag Bazme of
of sk it kit n




ne |
least ot

sacy
BEY

A

w4 andd Boare onoan Sast-w

— e

Asshown i the nccnmlmmfinf_r dragram. two tacking station
miles apart. A forest fire 13 locared at £l oon a bearing 427 northeast of sratton 4 apd 157 nort
stanon 5. How far, 1o the earesrmiie. 1s the fire from staton 47
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10.)
Twe tow nueks oy to pull a car out of a dirch. One tow tuck applies a foree of 1500 pounds winle rhie
ather ruck applies a foree of 2.000 pounds, The resultant force 15 2000 pounds, Fiud the angle
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betwween the two applied forces. rounded to the eaest degree.
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vind b lo\.mu aran angle of 277 as chown
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Gregory wants 1o build a garden n the al wape ot an1ose
equal to 12 vards. Ifthe area of lns zarden will be S5 square vards, find, to the oo o
the #ove angles of the tiangle, o
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